10 by 4 Tenner Grid Puzzles

Use the digits 0 to 9 to fill the cells in the grid. The columns must add up to
the given sums at the bottom. You must use all the digits 0 to 9 in each row,
but digits may be repeated in columns. The digits in connecting cells (also
diagonally) must be different.

6|2 .

8

7 11410
1111411320136 |16 15|11 |16

1812010153 |13 |4 |10 (24|18

16 /1511 13|14 |11 |21 18| 8 |8
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Answers

Use the digits 0 to 9 to fill the cells in the grid. The columns must add up to
the given sums at the bottom. You must use all the digits 0 to 9 in each row,
but digits may be repeated in columns. The digits in connecting cells (also
diagonally) must be different.

3162109 11418 7
0|1/8|54]3 61219
817136 2151140
11/14/13120/13| 6 |16 15|11 |16
5 0/ 4263 718
712 1510 4/]9]3
6 41310211 8 | 7
18120 /10(15| 3 |13 4 |10 |24 |18
61811 2459307
31219 0/4/6/|5]1
71511 426|819 3]0
16/ 1511131411 |21/18| 8 | 8
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